Supplement - Page 1

Clamping Kits - with 1-1/2* Wide Steel Blocks (F102)

Set Components

KIT NUMBER:

F102-0809
F102-0810
F102-0811
F102-1011
F102-1012
F102-1013

Component Part Number Component Description

(=]
=
(=]
=
(=]
=
(=]
=3
(=]
=
(=]
=

1 F115 - 0848 1/2-13 X 3” Clamp Stud 4 4 | 4

1 F115- 1048 5/8-11 X 3” Clamp Stud 4 4 4
2 F115 - 0864 1/2-13 X 4” Clamp Stud 4 4 | 4

2 F115 - 1064 5/8-11 X 4” Clamp Stud 4 4 4
3 F115 - 0880 1/2-13 X 5” Clamp Stud 4 4 | 4

3 F115-1080 5/8-11 X 5” Clamp Stud 4 4 4
4 F115 - 0896 1/2-13 X 6” Clamp Stud 4 4 | 4

4 F115 - 1096 5/8-11 X 6” Clamp Stud 4 4 4
5 F115- 0812 1/2-13 X 77 Clamp Stud 4 4 | 4

5 F115-1012 5/8-11 X 77 Clamp Stud 4 4 4
6 F115 - 0828 1/2-13 X 8” Clamp Stud 4 4 | 4

6 F115-1028 5/8-11 X 8” Clamp Stud 4 4 4
7 F116 - 0809 1/2-13 T - Slot Nut 9/16” X 7/8” 6

7 F116 - 0810 1/2-13 T - Slot Nut 5/8” X 1” 6

7 F116 - 0811 1/2-13 T - Slot Nut 11/16” X 1-1/8” 6

7 F116 - 1011 5/8-11 T - Slot Nut 11/16” X 1-1/8” 6

7 F116 - 1012 5/8-11T - Slot Nut 3/4” X 1-1/4” 6

7 F116 - 1013 5/8-11 T - Slot Nut 13/16” X 1-1/4” 6

Fixtureworks | 33792 Doreka Dr., Fraser M| 48026 | Phone: 586-284-1188 | Fax: 284-4843 | www.fixtureworks.net



Supplement - Page 2

Clamping Kits - with 1-1/2* Wide Steel Blocks (F102)

Set Components (continued)

KIT NUMBER:

F102-0809
F102-0810
F102-0811
F102-1011
F102-1012
F102-1013

o
=
o
=
o
=
=
-

o
=
o
=

Component Part Number  Component Description

8 F121-0108 1/2-13 Flanged Nut 4 4 | 4
8 F121-0110 5/8-11 Flanged Nut 4 4 4
9 F120- 0108 1/2-13 Goupling Nut 4 4 4
9 F120 - 0110 5/8-11 Coupling Nut 4 4 4
10 F114 - 2424 1-1/2” to 3-3/4” Step Block X 1-1/2” Steel 2 2 | 2| 2 2 2
10 F114 - 2440 2-1/2” to 6” Step Block X 1-1/2” Steel 2 2 | 2| 2 2 2
10 F114 - 2456 3-1/2” to 9” Step Block X 1-1/2” Steel 2 2 | 2| 2 2 2
11 F112 - 0840 Step Strap - 2-1/2” Length - 1/2” Bolt 2 2 | 2
11 F112 - 0864 Step Strap - 4” Length - 1/2” Bolt 2 2 | 2
11 F112 - 0896 Step Strap - 6” Length - 1/2” Bolt 2 2 | 2
11 F112 - 1040 Step Strap - 2-1/2” Length - 5/8” Bolt 2 2 2
11 F112 - 1064 Step Strap - 4” Length - 5/8” Bolt 2 2 2
11 F112 - 1096 Step Strap - 6” Length - 5/8” Bolt 2 2 2
not shown - Holder 1 1 1 1 1 1

Fixtureworks | 33792 Doreka Dr., Fraser M| 48026 | Phone: 586-284-1188 | Fax: 284-4843 | www.fixtureworks.net



